%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

Five bells begin to toll together and toll respectively at
intervals of 6, 7, 8, 9 and 12 seconds. After how
many seconds will they toll together again ?

e B Tk WY F9 IE Hd © AR HU: 6, 7, 8, 9,
12 Gehe & e W a5d 2| fohas U o5 o fHe T
g aeii?

(1) 72 Second / dhUS (2) 612 Seconds / HhUE
(3) 504 Seconds / &S (4) 318 Seconds / I&US
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Find the greatest number of five digits which when divided by 3, 5, 8, 2
leaves 2 as remainder. UTl 37ehl <hi I8 TH TSI HEAT FTd hHITAU 19 3,

5,8, 2 T ANT &4 UX 2 9IY &

0:45
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The LCM of two numbers is 168 and their HCF is 12. If

the difference between the number is 60, what is the sum of the
number? = HEITSN T LCM 168 & 3R 39kt HCF 12. 81 Ife @&

T 3R 60 T, qT HEAT /T ART AT 22

0:45




=) %aéeazm¢// FOR MORE DISCOUNT VISIT Www.mahendras.org & USE PROMO cODE : E06321 /

Six bells commence tolling together and toll at an intervals of 2,4,8,10

,12 seconds respectively . In 30 minutes how many times do they toll
together? ©E UlEAT Ueh TTA THT T AT & AT I SHAIM: 2,4,8,10
.12 Uehg o a0 W Tt 31 30 foee ¥ o foraet aR ues |y a=ii?

0:45
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A farmer has 945 cows and 2475 buffalo. He want to graze them in minimum
number of groups in such a way that each groups has only one type of animal and

also contain equal number of animals in each group. Find such minimum number

of groups. , Ueh TeRAT o UTH 945 T 371X 2475 U 2 a‘a‘ﬁwﬁwmﬁﬁw
TE | TET ATEAT & Toh Tk THE | holel Ueh Tk Bl AR 1 HAR Tk THE |
U HEAT H ISR AT 81l UH 7 A 7 AHET hl AT ATd iU

0:45



=) %aéeazm¢// FOR MORE DISCOUNT VISIT Www.mahendras.org & USE PROMO cODE : E06321 /

Find the least number of equal size squares tiles which can fitted in
a rectangular field whose sides are 284m and 248m . <hH U &Y gu=
ATHR hl TTRR ZTSEAT shl TEAT TTA hITT ST Teh ATIATRR ©d W The
T AT et § fSTEehT TITE 284m 3R 248m )

0:45
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When 2270, 3739 and 6677 are divided by a certain number of three digit,
the remainders are the same. Find the number. STd 2270, 3739 AR 6677 T

AT aient i Tk Fafaa deaT O R forat smat 2, @ 91w au= 2 31 g
AT kit

0:45



/@ %aéeazmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E06321 /

What is the least possible number which when divided by 42,72

and 84 it leaves the remainder 25, 55 and 67 ?3% =@daw A9 HE&AT
FT T R 42,72 317 84 A g e W 9w 25, 55 3R 67 F=rdT 82

0:45
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The product of two number is 2028 and their HCF is 13.Find the number of such
pairs. T HEIATT T TUFHE 2028 § TR ITHT HCF 13 71 TN THAT Y W&AT 71d

it
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The HCF and product of two numbers are 15 and
6300 respectively. The number of possible pairs of
the numbers is

A Gl T BH U SR YOERS HHS: 15 qel
6300 | UHT TE&ed & 9rd FE hi GEA sFl
(1) 4 (2) 3 (3) 2 (4) 1

0:45
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The sum of two numbers is 84 and their HCF is 12.
Total number of such pairs of humber is

S el &1 ANTEG 84 9l Il WA 12 B TH
geetl & sl I I G&A B
(1) 2 (2) 3 (3) 4 (4) 5

0:45
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The LCM of two numbers is 1920 and thelr HCF is
16. If one of the number I1s 128, find the other number.

< Gemsl #1 9.9, 1920 3 IR 44 16 &l A
Tsh &I 128 ©l, a1 TUU &A1 G hifeg?
(1) 204 (2) 240 (3) 260  (4) 320

0:45
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The L.C.M. of two numbers is 1820 and their H.C.F is
26. If one number is 130 then the other number is :

< HEsT &1 @.H. 1820 T 3N 391 H.4. 26 2| A TH
e 130 @, 9 gE WET @-
(1) 70 (2) 1690  (3) 364 (4) 1264
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The least multiple of 13, which on dividing by 4, 5,
6, 7/ and 8 leaves remainder 2 in each case Is:

13 &1 9% 999 o N 59 4, 5,6, 7 3N 8 ¥
qAT 3 T Y% <91 H 2 99 &9dl 2—
(1) 2520 (2) 842 (3) 2522  (4) 840

0:45
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Find the largest number of four digits such that on
dividing by 15, 18, 21 and 24 the remainders are 11,
14, 17 and 20 respectively.

IR 3] Sl TH TG99 T T&AT A@ Siteie 59 15, 18,
21 3R 24 9§ 9F 4 W HA: 11, 14, 17 3R 20
IS 59 |

(1) 6557 (2) 7556  (3) 5675  (4) 7664
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The number nearest to 10000, which is exactly di-
visible by each of 3, 4, 5, 6, 7 and 8, is:

10000 & fheqq 98 H&, S 3, 4, 5, 6, 7 991 8 |
9 g g fawfsa e 2, 2

(1) 9240 (2) 10080 (3) 9996  (4) 10000

0:45
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The greatest 4-digit number exactly divisible by 10,
15, 20 is

10, 15, 20, ¥ YUid: fa9sa 4- &l arcll Hgaq He
HE-H 27

(1) 9990 (2) 9960  (3) 9980  (4) 9995

0:45
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The ratio of two numbers is 3 : 4 and their HCF is 5.
Their LCM is :

S &S 1 AU 3 : 4 TAT 3T HedH FHMIEAE 5
gl TSIER, ST TEH THYGd fohaTr emm?
(1) 10 (2) 60 (3) 15 (4) 12

0:45
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The HCF and product of two numbers are 15 and
6300 respectively. The number of possible pairs of
the numbers is

I e w1 WE. qAT IR OEEA HEI: 15 ql
6300 B! UH Hemet & Toydg i i T g
(1) 4 (2) 3 (3) 2 (4) 1

0:45




